
6997

• GV80

Towbar

2020-> 

Fitting instructions 

장착 지침

GB

KR

Your perfect fit 
brink.eu

Genesis



M12x1,25x90 (8.8)
75Nm

M12x40(10.9)
75Nm

M12x40(10.9)
120Nm

M12x22(100)
160Nm

M12x22(100)
160Nm

M6x20(10.9)
20Nm

M12x40(10.9)
120Nm

M12x40(10.9)
75Nm

M12x1,25x90 (8.8)
75Nm

M6x20(10.9)
20Nm

For the sensor

9520079

6997/7

6997/2

6997/6

6997/7

6997/5

****853

6997/3

699780

© 699770/27-08-2021/2



M12x1,25x90 (8.8)
75Nm

M12x40(10.9)
75Nm

M12x40(10.9)
105Nm

M12x22(100)
150Nm

M12x22(100)
150Nm

M6x20(10.9)
20Nm

M12x40(10.9)
105Nm

M12x40(10.9)
75Nm

M12x1,25x90 (8.8)
75Nm

M6x20(10.9)
20Nm

For the sensor

9520079

699780 6997/7

6997/2

6997/6

6997/7

6997/5

****853

6997/3

© 699770/27-08-2021/3



6997

(6x) M12x40 (8.8) 

(8x) M12x1,25x90 (10.9) 

(4x) M12x22 (100) 

(4x) M6 (10)

(4x) M12 (10)

(4x) M6x20 (10.9) 

(10x) M12

(8x) ø19x3 mm

BMU
Usermanual
Light Weight

EC9420

approved
CARLOS

tested

6997

• GV80

Towbar

2020-> 

Fitting instructions 

장착 지침

GB

KR

Your perfect fit 
brink.eu

Genesis

© 699770/27-08-2021/4

(2x)



tested
euro

Approved

Approved

Approved

10

kg ?

Max 
2722kg

 

182 kg

8.8

D-Value :        kN

ECE R55

Couplingsclass: A50-X

13,99

MODIFICATION?
10.9

E11 55R 0211931

10 18 19

© 699770/27-08-2021/5



© 699770/27-08-2021/6

0km

+

1000km

Copy of manufacturers plate

Copy of manufacturers plate

1 2
Copy of manufacturersplate

> 1 mm < 1 mm

Nm
 

Click

1

2



© 699770/27-08-2021/7

 

NOTE: 

* All measurements are in mm! 
* Brink Towing Systems B.V. is not liable for damage caused directly or indi-

rectly by incorrect assembly, including the use of unsuitable tools, the 

use of other assembly methods and means than the ones outlined, and 

the incorrect interpretation of these assembly instructions.  

 

 
주의사항 : 

* 모든  치수는  mm  단위입니다. 

* Brink는  직간접적인  잘못된  조립,  부적합한  도구의  사용,  장착  지침  이

외의  조립  방법  및  수단의  사용,  조립  설명서의  잘못된  해석  등등으로  

인해  발생하는  모든  손해에  대해  책임을  지지  않습니다. 

 

KR

GB

10 18 19



© 699770/27-08-2021/8

G E N E S ISGG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S IS

G E N E S ISGG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S IS

3

2

1

Raymond Paais

Ra
ym

on

d Paais

Raymond Paais

Ra
ym

on

d Paais

Raymond Paais

Ra
ym

on

d Paais

2
1

100mm

200mm

4

Raymond Paais

Ra
ym

on

d Paais

Only Diesel

2

1

2 1
100mm

200mm

5

Raymond Paais

Ra
ym

on

d Paais

2

1

먼저, 자동차등록번호판 좌측의 

봉인을 제거한 후 범퍼를 탈착

해 주세요. (연결 장치 장착에 

관한 모든 작업을 완료한 후에

는 '자동차 관리법'에 의거, 관

련 기관에서 봉인을 재발급하여 

부착하기 바랍니다.)



© 699770/27-08-2021/9

6 7

(4x) M12x1,25x90 (10.9)

(4x) M12

(4x) ø19x3 mm

(4x) M12x1,25x90 (10.9)

(4x) M12

(4x) ø19x3 mm

6



© 699770/27-08-2021/10

8 9

(6x) M12x40 (10.9)

(2x) M12

(4x) M12

(4x) M12x22 (100)



© 699770/27-08-2021/11

x2 22

11

18

10

(2x) M6x20(10.9)

(2x) M6



© 699770/27-08-2021/12

12

1800

2215

x2

Smart key option

Smart key option

13

14 1415



© 699770/27-08-2021/13

14 15

(2x) M6x20(10.9)

(2x) M6

(2x) M6

(2x)



© 699770/27-08-2021/14

16

Only Diesel



© 699770/27-08-2021/15

Cutout

Inside Bumper

Cutout

Inside Bumper

Middle bumper

Middle bumper

Inside Bumper

Middle bumper

Cutout

Inside Bumper

Middle bumper

Cutout

17a 17b

Gasoline Diesel



© 699770/27-08-2021/16

G E N E S ISGG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S IS

G E N E S ISGG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S ISG E N E S IS

19

18

Raymond Paais

Ra
ym

on

d Paais

BMU
Usermanual
Light Weight

EC9420
approved

CARLOS
tested

20

21

Raymond Paais

Ra
ym

on

d Paais



88

• Y
o

u
r p

e
rfe

c
t fi

t




